### **Communications in Mathematics and Applications**

Vol. 14, No. 1, pp. 59-66, 2023

ISSN 0975-8607 (online); 0976-5905 (print)

Published by RGN Publications

DOI: 10.26713/cma.v14i1.2079



Research Article

# Some Identities on Sums of Finite Products of Chebyshev Polynomials of the Third and Fourth Kinds

Jugal Kishore\*1 , Vipin Verma and Ajay Kumar Sharma for any Sharma

Received: October 3, 2022 Accepted: April 21, 2023

**Abstract.** In this paper, we will introduce some identities involving sums of the finite products of Chebyshev polynomials of the third and fourth kinds, Fibonacci, and Lucas numbers in terms of the derivatives of Pell, Fibonacci, Jacobi, Gegenbauer, Vieta-Fibonacci, Vieta-Pell, and second-kind Chebyshev polynomials.

**Keywords.** Chebyshev polynomials, Pell polynomials, Fibonacci polynomials, Jacobi polynomials, Gegenbauer polynomials, Vieta-Fibonacci polynomials, Vieta-Pell polynomials

Mathematics Subject Classification (2020). 11B39, 11B83, 33C47

Copyright © 2023 Jugal Kishore, Vipin Verma and Ajay Kumar Sharma. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

For all integers,  $\alpha \geq 2$  and  $|\xi| < 1$ , the Fibonacci numbers  $(\mathcal{F}_{\alpha})$ , Lucas numbers  $(\mathcal{L}_{\alpha})$ , Fibonacci polynomials  $(\mathcal{F}_{\alpha}(\xi))$ , Pell polynomials  $(\mathcal{F}_{\alpha}(\xi))$ , Vieta-Fibonacci polynomials  $(\mathcal{S}_{\alpha}(\xi))$ , Vieta-Pell polynomials  $(\mathcal{R}_{\alpha}(\xi))$ , Chebyshev polynomials of the first  $(\mathcal{T}_{\alpha}(\xi))$ , second  $(\mathcal{U}_{\alpha}(\xi))$ , third  $(\mathcal{V}_{\alpha}(\xi))$ , and fourth  $(\mathcal{W}_{\alpha}(\xi))$  kinds, Gegenbauer polynomials  $(\mathcal{C}(\alpha : \mu)(\xi))$ , and Jacobi polynomials  $(\mathcal{P}(\alpha : \mu, \lambda)(\xi))$  [1, 4, 5, 7] are defined recursively as follows:

$$\mathcal{F}_{\alpha} = \mathcal{F}_{\alpha-1} + \mathcal{F}_{\alpha-2}, \ \mathcal{F}_0 = 0, \ \mathcal{F}_1 = 1,$$
 (1.1)

<sup>&</sup>lt;sup>1,2</sup>Department of Mathematics, School of Chemical Engineering and Physical Sciences, Lovely Professional University, Phagwara 144411, Punjab, India

<sup>&</sup>lt;sup>3</sup> Department of Mathematics, Government Degree College, Udhampur 182101, Jammu & Kashmir, India

<sup>\*</sup>Corresponding author: jkish11111@gmail.com

$$\mathcal{L}_{\alpha} = \mathcal{L}_{\alpha-1} + \mathcal{L}_{\alpha-2}, \ \mathcal{L}_0 = 2, \ \mathcal{L}_1 = 1, \tag{1.2}$$

$$\mathcal{F}_{\alpha}(\xi) = \xi \mathcal{F}_{\alpha-1}(\xi) + \mathcal{F}_{\alpha-2}(\xi), \ \mathcal{F}_{0}(\xi) = 0, \ \mathcal{F}_{1}(\xi) = 1, \tag{1.3}$$

$$\mathcal{P}_{\alpha}(\xi) = 2\xi \mathcal{P}_{\alpha-1}(\xi) + \mathcal{P}_{\alpha-2}(\xi), \ \mathcal{P}_{0}(\xi) = 0, \ \mathcal{P}_{1}(\xi) = 1, \tag{1.4}$$

$$S_{\alpha}(\xi) = \xi S_{\alpha - 1}(\xi) - S_{\alpha - 2}(\xi), \ S_0(\xi) = 0, \ S_1(\xi) = 1, \tag{1.5}$$

$$\mathcal{R}_{\alpha}(\xi) = 2\xi \mathcal{R}_{\alpha-1}(\xi) - \mathcal{R}_{\alpha-2}(\xi), \ \mathcal{R}_{0}(\xi) = 0, \ \mathcal{R}_{1}(\xi) = 1, \tag{1.6}$$

$$\mathcal{T}_{\alpha}(\xi) = 2\xi \mathcal{T}_{\alpha-1}(\xi) - \mathcal{T}_{\alpha-2}(\xi), \ \mathcal{T}_{0}(\xi) = 1, \ \mathcal{T}_{1}(\xi) = \xi, \tag{1.7}$$

$$\mathcal{U}_{\alpha}(\xi) = 2\xi \mathcal{U}_{\alpha-1}(\xi) - \mathcal{U}_{\alpha-2}(\xi), \ \mathcal{U}_{0}(\xi) = 1, \ \mathcal{U}_{1}(\xi) = 2\xi, \tag{1.8}$$

$$\mathcal{V}_{\alpha}(\xi) = 2\xi \mathcal{V}_{\alpha-1}(\xi) - \mathcal{V}_{\alpha-2}(\xi), \ \mathcal{V}_{0}(\xi) = 1, \ \mathcal{V}_{1}(\xi) = 2\xi - 1, \tag{1.9}$$

$$W_{\alpha}(\xi) = 2\xi W_{\alpha - 1}(\xi) - W_{\alpha - 2}(\xi), \ W_0(\xi) = 1, \ W_1(\xi) = 2\xi + 1,$$
(1.10)

$$\mathbb{C}(\alpha:\mu)(\xi) = \frac{1}{\alpha} [2\xi(\alpha+\mu-1)\mathbb{C}(\alpha-1:\mu)(\xi) - (\alpha+2\mu-2)\mathbb{C}(\alpha-2:\mu)(\xi)],$$

$$\mathcal{C}(0:\mu)(\xi) = 1, \ \mathcal{C}(1:\mu)(\xi) = 2\mu\xi, \ \mu > -\frac{1}{2}, \tag{1.11}$$

$$2(\alpha+1)(\mu+\lambda+\alpha+1)(\mu+\lambda+2\alpha)\mathcal{P}(\alpha+1:\mu,\lambda)(\xi)$$

$$= (\mu + \lambda + 2\alpha + 1)[(\mu^2 - \lambda^2) + (\mu + \lambda + 2\alpha)(\mu + \lambda + 2\alpha + 2)]\mathcal{P}(\alpha : \mu, \lambda)(\xi),$$

$$-2(\mu+\alpha)(\lambda+\alpha)(\mu+\lambda+2\alpha+2)\mathcal{P}(\alpha-1:\mu,\lambda)(\xi),$$

$$\mathcal{P}(0:\mu,\lambda)(\xi) = 1, \ \mathcal{P}(1:\mu,\lambda)(\xi) = \frac{1}{2}[\mu - \lambda + (\mu + \lambda + 2)\xi], \ \mu,\lambda > -1.$$
 (1.12)

Many authors have studied the elementary properties of the Chebyshev polynomials and obtained many interesting results. For instance, Zhang [7] has studied the finite sums of the products of Chebyshev polynomials, Fibonacci numbers, and Lucas numbers and derived interesting results, particularly

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{U}_{a_1}(\xi).\mathcal{U}_{a_2}(\xi).\mathcal{U}_{a_3}(\xi).\ldots.\mathcal{U}_{a_{r+1}}(\xi) = \frac{1}{2^r r!} \mathcal{U}_{\alpha+r}^r(\xi),$$

where  $\mathcal{U}_{\alpha}^{r}(\xi)$  denotes the  $r^{\text{th}}$  derivative of  $\mathcal{U}_{\alpha}(\xi)$  with respect to  $\xi$  and the summation runs over all the r+1-dimension non-negative integer coordinates  $(a_{1},a_{2},\ldots,a_{r+1})$  such that  $a_{1}+a_{2}+\cdots+a_{r+1}=\alpha$ .

In the same line, this paper will attempt to introduce some more identities involving sums of the finite products of Chebyshev polynomials of third and fourth kind, Fibonacci numbers, and Lucas numbers in terms of pell, Fibonacci, Jacobi, Gegenbauer, Vieta-Fibonacci, and Vieta-Pell polynomials and second-kind Chebyshev polynomials. The main results of this paper are:

**Theorem 1.1.** For  $\alpha, r \ge 0$ , we have

$$\sum_{a_1+a_2+a_3+\dots+a_{r+1}=\alpha} \mathcal{V}_{a_1}(i\xi) \cdot \mathcal{V}_{a_2}(i\xi) \cdot \mathcal{V}_{a_3}(i\xi) \cdot \dots \cdot \mathcal{V}_{a_{r+1}}(i\xi)$$

$$= \frac{1}{2^r r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} i^{\alpha-t} \mathcal{P}_{\alpha-t+r+1}^r(\xi) \tag{1.13}$$

$$= \frac{1}{r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} i^{\alpha-t} \mathcal{F}_{\alpha-t+r+1}^r(2\xi)$$

$$\cdot \sum_{a_1+a_2+a_3+\dots+a_{r+1}=\alpha} \mathcal{W}_{a_1}(i\xi) \cdot \mathcal{W}_{a_2}(i\xi) \cdot \mathcal{W}_{a_3}(i\xi) \cdot \dots \cdot \mathcal{W}_{a_{r+1}}(i\xi)$$
(1.14)

$$= \frac{1}{2^{r} r!} \sum_{t=0}^{\alpha} {r+1 \choose t} i^{\alpha-t} \mathcal{P}_{\alpha-t+r+1}^{r}(\xi)$$
 (1.15)

$$= \frac{1}{r!} \sum_{t=0}^{\alpha} {r+1 \choose t} i^{\alpha-t} \mathcal{F}_{\alpha-t+r+1}^{r}(2\xi), \tag{1.16}$$

where  $i = \sqrt{-1}$  and  $\mathcal{P}_{\alpha}^{r}(\xi)$  and  $\mathcal{F}_{\alpha}^{r}(\xi)$  are the  $r^{\text{th}}$  derivatives of the Pell polynomial and Fibonacci polynomials.

**Theorem 1.2.** For  $\alpha, r \ge 0$ , we have

$$\sum_{a_{1}+a_{2}+a_{3}+\cdots+a_{r+1}=\alpha} \mathcal{V}_{a_{1}}(\xi).\mathcal{V}_{a_{2}}(\xi).\mathcal{V}_{a_{3}}(\xi).\dots.\mathcal{V}_{a_{r+1}}(\xi)$$

$$= \frac{1}{2^{r}r!} \frac{(\alpha+1)!\Gamma\left(\frac{3}{2}\right)}{\Gamma\left(\alpha+\frac{3}{2}\right)} \sum_{t=0}^{\alpha} (-1)^{t} \binom{r+1}{t} \mathcal{P}^{r}\left(\alpha-t+r:\frac{1}{2},\frac{1}{2}\right)(\xi)$$
(1.17)

$$= \frac{1}{2^{r} r!} \sum_{t=0}^{\alpha} (-1)^{t} {r+1 \choose t} \mathcal{C}^{r} (\alpha - t + r : 1)(\xi)$$

$$\cdot \sum_{a_{1} + a_{2} + a_{3} + \dots + a_{r+1} = \alpha} \mathcal{W}_{a_{1}}(\xi) \cdot \mathcal{W}_{a_{2}}(\xi) \cdot \mathcal{W}_{a_{3}}(\xi) \cdot \dots \cdot \mathcal{W}_{a_{r+1}}(\xi)$$
(1.18)

$$=\frac{1}{2^{r}r!}\frac{(\alpha+1)!\Gamma\left(\frac{3}{2}\right)}{\Gamma\left(\alpha+\frac{3}{2}\right)}\sum_{t=0}^{\alpha} {r+1 \choose t} \mathcal{P}^{r}\left(\alpha-t+r:\frac{1}{2},\frac{1}{2}\right)(\xi) \tag{1.19}$$

$$= \frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} \mathcal{C}^r (\alpha - t + r : 1)(\xi), \tag{1.20}$$

where  $\mathfrak{P}^r(\alpha : \mu, \lambda)(\xi)$  and  $\mathfrak{C}^r(\alpha : \mu)(\xi)$  are the  $r^{\text{th}}$  derivative of Jacobi polynomials and Gagenbauer polynomials, respectively.

**Theorem 1.3.** For  $\alpha, r \ge 0$ , we have

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{V}_{a_1}\left(\frac{\xi}{2}\right) \cdot \mathcal{V}_{a_2}\left(\frac{\xi}{2}\right) \cdot \mathcal{V}_{a_3}\left(\frac{\xi}{2}\right) \cdot \dots \cdot \mathcal{V}_{a_{r+1}}\left(\frac{\xi}{2}\right)$$

$$= \frac{1}{r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} \mathcal{S}_{\alpha-t+r}^r(\xi), \qquad (1.21)$$

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{W}_{a_1}\left(\frac{\xi}{2}\right) \cdot \mathcal{W}_{a_2}\left(\frac{\xi}{2}\right) \cdot \mathcal{W}_{a_3}\left(\frac{\xi}{2}\right) \cdot \dots \cdot \mathcal{W}_{a_{r+1}}\left(\frac{\xi}{2}\right)$$

$$= \frac{1}{r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} \mathcal{S}_{\alpha-t+r}^r(\xi), \qquad (1.22)$$

where  $S_a^r(\xi)$  is  $r^{\text{th}}$  derivative of Vieta-Fibonacci polynomial.

**Theorem 1.4.** For  $\alpha, r \ge 0$ , we have

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha}\mathcal{V}_{a_1}(\xi).\mathcal{V}_{a_2}(\xi).\mathcal{V}_{a_3}(\xi).\cdots.\mathcal{V}_{a_{r+1}}(\xi)$$

$$= \frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} (-1)^t \mathcal{R}^r_{\alpha-t+r+1}(\xi), \tag{1.23}$$

$$\sum_{a_1+a_2+a_3+\dots+a_{r+1}=a} W_{a_1}(\xi).W_{a_2}(\xi).W_{a_3}(\xi).\dots.W_{a_{r+1}}(\xi)$$

$$=\frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} \mathcal{R}_{\alpha-t+r+1}^r(\xi), \tag{1.24}$$

where  $\mathcal{R}_{\alpha}^{r}(\xi)$  is  $r^{\text{th}}$  derivative of Vieta-Pell polynomials.

**Corollary 1.1.** *For*  $\alpha, r \ge 0$ , *we have* 

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{F}_{a_1}.\mathcal{F}_{a_2}.\mathcal{F}_{a_3}.\dots.\mathcal{F}_{a_{r+1}}$$

$$= \frac{1}{2^{r} r!} \sum_{t=0}^{\alpha} (-1)^{t} \binom{r+1}{t} i^{\alpha-t} \mathcal{P}_{\alpha-t+r+1}^{r} \left(-\frac{3}{2} i\right)$$
 (1.25)

$$= \frac{1}{r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} i^{\alpha-t} \mathcal{F}_{\alpha-t+r+1}^r (-3i)$$
 (1.26)

$$= \frac{1}{2^{r} r!} \frac{(\alpha+1)}{\mathcal{P}_{\alpha}\left(\alpha:\frac{1}{2},\frac{1}{2}\right)(1)} \sum_{t=0}^{\alpha} (-1)^{t} \binom{r+1}{t} \mathcal{P}^{r}\left(\alpha-t+r:\frac{1}{2},\frac{1}{2}\right) \left(\frac{3}{2}\right)$$
(1.27)

$$= \frac{1}{2^{r} r!} \sum_{t=0}^{\alpha} (-1)^{t} \binom{r+1}{t} \mathcal{C}^{r} (\alpha - t + r : 1) \left(\frac{3}{2}\right)$$
 (1.28)

$$= \frac{1}{r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} S_{\alpha-t+r}^r(3)$$
 (1.29)

$$= \frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} (-1)^t \mathcal{R}_{\alpha-t+r+1}^r \left(\frac{3}{2}\right)$$
 (1.30)

$$= \frac{1}{2^r r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} \mathcal{U}_{\alpha-t+r}^r \left(\frac{3}{2}\right). \tag{1.31}$$

**Corollary 1.2.** For  $\alpha, r \ge 0$ , we have

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{L}_{a_1}.\mathcal{L}_{a_2}.\mathcal{L}_{a_3}.\ldots.\mathcal{L}_{a_{r+1}}$$

$$=\frac{1}{2^{r}r!}\sum_{t=0}^{\alpha} {r+1 \choose t} i^{\alpha-t} \mathcal{P}_{\alpha-t+r+1}^{r} \left(-\frac{3}{2}i\right)$$

$$\tag{1.32}$$

$$= \frac{1}{r!} \sum_{t=0}^{\alpha} {r+1 \choose t} i^{\alpha-t} \mathcal{F}_{\alpha-t+r+1}^{r}(-3i)$$
 (1.33)

$$=\frac{1}{2^{r}r!}\frac{(\alpha+1)}{\mathcal{P}_{\alpha}\left(\alpha:\frac{1}{2},\frac{1}{2}\right)(1)}\sum_{t=0}^{\alpha}\binom{r+1}{t}\mathcal{P}^{r}\left(\alpha-t+r:\frac{1}{2},\frac{1}{2}\right)\left(\frac{3}{2}\right) \tag{1.34}$$

$$=\frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} \mathcal{C}^r (\alpha - t + r : 1) \left(\frac{3}{2}\right)$$
 (1.35)

$$=\frac{1}{r!}\sum_{t=0}^{\alpha} {r+1 \choose t} S_{\alpha-t+r}^{r}(3) \tag{1.36}$$

$$=\frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} \mathcal{R}^r_{\alpha-t+r+1} \left(\frac{3}{2}\right) \tag{1.37}$$

$$=\frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} \mathcal{U}_{\alpha-t+r}^r \left(\frac{3}{2}\right). \tag{1.38}$$

#### 2. Proof of Theorems and Corollaries

In this section, we will discuss the proof of theorems. Utilizing the above-discussed recurrence relations from (1.1)-(1.12), for any positive integer  $\alpha$ , it is not difficult to deduce the following identities ([1,2,5–7]),

$$\mathcal{U}_{\alpha}\left(\frac{3}{2}\right) = \mathcal{F}_{2\alpha+2},\tag{2.1}$$

$$\mathcal{V}_{\alpha}(\xi) = \mathcal{U}_{\alpha}(\xi) - \mathcal{U}_{\alpha-1}(\xi), \tag{2.2}$$

$$W_{\alpha}(\xi) = \mathcal{U}_{\alpha}(\xi) + \mathcal{U}_{\alpha-1}(\xi), \tag{2.3}$$

$$\mathcal{W}_{\alpha}(\xi) = (-1)^{\alpha} \mathcal{V}_{\alpha}(-\xi),\tag{2.4}$$

$$\mathcal{V}_{\alpha}\left(\frac{3}{2}\right) = \mathcal{F}_{2\alpha+1},\tag{2.5}$$

$$\mathcal{W}_{\alpha}\left(\frac{3}{2}\right) = \mathcal{L}_{2\alpha+1},\tag{2.6}$$

$$\mathcal{P}_{\alpha}(\xi) = \mathcal{F}_{\alpha}(2\xi),\tag{2.7}$$

$$\mathcal{P}_{\alpha+1}(\xi) = \frac{1}{\sqrt{(-1)^{\alpha}}} \mathcal{U}_{\alpha}(\sqrt{-1}\xi) = \frac{1}{i^{\alpha}} \mathcal{U}_{\alpha}(i\xi), \tag{2.8}$$

$$S_{\alpha}(\xi) = \mathcal{U}_{\alpha}\left(\frac{1}{2}\xi\right),\tag{2.9}$$

$$\mathcal{U}_{\alpha}(\xi) = \mathcal{R}_{\alpha+1}(\xi),\tag{2.10}$$

$$\mathcal{U}_{\alpha}(\xi) = \mathcal{C}(\alpha:1)(\xi),\tag{2.11}$$

$$\mathcal{U}_{\alpha}(\xi) = \frac{(\alpha+1)!\Gamma\left(\frac{3}{2}\right)}{\Gamma(\alpha+\frac{3}{2})} \mathcal{P}\left(\alpha:\frac{1}{2},\frac{1}{2}\right)(\xi). \tag{2.12}$$

Also, from [3], it can be seen that

$$\sum_{a_1+a_2+a_3+\dots+a_{r+1}=\alpha} \mathcal{V}_{a_1}(\xi) \cdot \mathcal{V}_{a_2}(\xi) \cdot \mathcal{V}_{a_3}(\xi) \cdot \dots \cdot \mathcal{V}_{a_{r+1}}(\xi) = \frac{1}{2^r r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} \mathcal{U}_{\alpha-t+r}^r(\xi), \qquad (2.13)$$

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{W}_{a_1}(\xi).\mathcal{W}_{a_2}(\xi).\mathcal{W}_{a_3}(\xi)...\mathcal{W}_{a_{r+1}}(\xi) = \frac{1}{2^r r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} \mathcal{U}_{\alpha-t+r}^r(\xi), \tag{2.14}$$

where all the sums in (2.13) and (2.14) runs over all non-negative integers  $a_1, a_2, ..., a_{r+1}$  with  $a_1 + a_2 + \cdots + a_{r+1} = \alpha$  with  $\binom{r+1}{t} = 0$  for t > r+1.

*Proof of Theorem* 1.1. Replacing  $\xi$  by  $i\xi$  in (2.13) and (2.14), we have

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha}\mathcal{V}_{a_1}(i\xi).\mathcal{V}_{a_2}(i\xi).\mathcal{V}_{a_3}(i\xi).\ldots.\mathcal{V}_{a_{r+1}}(i\xi)$$

$$= \frac{1}{2^{r} r!} \sum_{t=0}^{\alpha} (-1)^{t} {r+1 \choose t} \mathcal{U}_{\alpha-t+r}^{r}(i\xi)$$

$$\cdot \sum_{a_{1}+a_{2}+a_{3}+\dots+a_{r+1}=\alpha} \mathcal{W}_{a_{1}}(i\xi) \cdot \mathcal{W}_{a_{2}}(i\xi) \cdot \mathcal{W}_{a_{3}}(i\xi) \cdot \dots \cdot \mathcal{W}_{a_{r+1}}(i\xi)$$
(2.15)

$$=\frac{1}{2^r r!} \sum_{t=0}^{\alpha} {r+1 \choose t} \mathcal{U}_{\alpha-t+r}^r(i\xi). \tag{2.16}$$

Differentiating (2.7) and (2.8), r-times with respect to  $\xi$ , we get

$$\mathcal{P}_{\alpha}^{r}(\xi) = 2^{r} F_{\alpha}^{r}(2\xi),\tag{2.17}$$

$$\mathcal{U}_{\alpha}^{r}(i\xi) = i^{\alpha - r} \mathcal{P}_{n+1}^{r}(\xi). \tag{2.18}$$

Using (2.17) and (2.18) in (2.15) and (2.16), we have

$$\begin{split} &\sum_{a_{1}+a_{2}+a_{3}+\cdots+a_{r+1}=\alpha} \mathcal{V}_{a_{1}}(i\xi).\mathcal{V}_{a_{2}}(i\xi).\mathcal{V}_{a_{3}}(i\xi).\dots\mathcal{V}_{a_{r+1}}(i\xi) \\ &= \frac{1}{2^{r}r!} \sum_{t=0}^{\alpha} (-1)^{t} \binom{r+1}{t} i^{\alpha-t} \mathcal{P}_{\alpha-t+r+1}^{r}(\xi) \\ &= \frac{1}{r!} \sum_{t=0}^{\alpha} (-1)^{t} \binom{r+1}{t} i^{\alpha-t} \mathcal{F}_{\alpha-t+r+1}^{r}(2\xi) \\ & \cdot \sum_{a_{1}+a_{2}+a_{3}+\cdots+a_{r+1}=\alpha} \mathcal{W}_{a_{1}}(i\xi).\mathcal{W}_{a_{2}}(i\xi).\mathcal{W}_{a_{3}}(i\xi).\dots\mathcal{W}_{a_{r+1}}(i\xi) \\ &= \frac{1}{2^{r}r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} i^{\alpha-t} \mathcal{P}_{\alpha-t+r+1}^{r}(\xi) \\ &= \frac{1}{r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} i^{\alpha-t} \mathcal{F}_{\alpha-t+r+1}^{r}(2\xi). \end{split}$$

Hence Theorem 1.1 is established.

*Proof of Theorem* 1.2. Differentiating (2.11) and (2.12) r-times, we have

$$\mathcal{U}_{\alpha}^{r}(\xi) = \mathcal{C}^{r}(\alpha:1)(\xi),\tag{2.19}$$

$$\mathcal{U}_{\alpha}^{r}(\xi) = \frac{(\alpha+1)!\Gamma\left(\frac{3}{2}\right)}{\Gamma\left(\alpha+\frac{3}{2}\right)} \mathcal{P}^{r}\left(\alpha:\frac{1}{2},\frac{1}{2}\right)(\xi). \tag{2.20}$$

Using (2.19) and (2.20) in (2.13) and (2.14), we have

$$\begin{split} &\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{V}_{a_1}(\xi).\mathcal{V}_{a_2}(\xi).\mathcal{V}_{a_3}(\xi).\dots.\mathcal{V}_{a_{r+1}}(\xi) \\ &= \frac{1}{2^r r!} \frac{(\alpha+1)!\Gamma\left(\frac{3}{2}\right)}{\Gamma\left(\alpha+\frac{3}{2}\right)} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} \mathcal{P}^r \left(\alpha-t+r:\frac{1}{2},\frac{1}{2}\right) (\xi) \end{split}$$

Communications in Mathematics and Applications, Vol. 14, No. 1, pp. 59-66, 2023

$$\begin{split} &= \frac{1}{2^r r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} \mathcal{C}^r (\alpha - t + r: 1)(\xi) \\ &\cdot \sum_{a_1 + a_2 + a_3 + \dots + a_{r+1} = \alpha} \mathcal{W}_{a_1}(\xi). \mathcal{W}_{a_2}(\xi). \mathcal{W}_{a_3}(\xi). \dots . \mathcal{W}_{a_{r+1}}(\xi) \\ &= \frac{1}{2^r r!} \frac{(\alpha + 1)! \Gamma\left(\frac{3}{2}\right)}{\Gamma\left(\alpha + \frac{3}{2}\right)} \sum_{t=0}^{\alpha} \binom{r+1}{t} \mathcal{P}^r \left(\alpha - t + r: \frac{1}{2}, \frac{1}{2}\right) (\xi) \\ &= \frac{1}{2^r r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} \mathcal{C}^r (\alpha - t + r: 1)(\xi) \end{split}$$

Hence Theorem 1.2 is established.

*Proof of Theorem* 1.3. Replacing  $\xi$  by  $\frac{\xi}{2}$  in (2.13) and (2.14), we have

$$\sum_{a_1+a_2+a_3+\dots+a_{r+1}=\alpha} \mathcal{V}_{a_1}\left(\frac{\xi}{2}\right) \cdot \mathcal{V}_{a_2}\left(\frac{\xi}{2}\right) \cdot \mathcal{V}_{a_3}\left(\frac{\xi}{2}\right) \cdot \dots \cdot \mathcal{V}_{a_{r+1}}\left(\frac{\xi}{2}\right) = \frac{1}{2^r r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} \mathcal{U}_{\alpha-t+r}^r\left(\frac{\xi}{2}\right), \quad (2.21)^{t+1} \cdot \mathcal{V}_{\alpha-t+r}^r\left(\frac{\xi}{2}\right) \cdot \mathcal{V}_{$$

$$\sum_{a_1 + a_2 + a_3 + \dots + a_{r+1} = \alpha} \mathcal{W}_{a_1} \left(\frac{\xi}{2}\right) \cdot \mathcal{W}_{a_2} \left(\frac{\xi}{2}\right) \cdot \mathcal{W}_{a_3} \left(\frac{\xi}{2}\right) \cdot \dots \cdot \mathcal{W}_{a_{r+1}} \left(\frac{\xi}{2}\right) = \frac{1}{2^r r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} \mathcal{U}_{\alpha-t+r}^r \left(\frac{\xi}{2}\right). \tag{2.22}$$

Differentiating (2.9) r-times, we have

$$S_{\alpha}^{r}(\xi) = \frac{1}{2^{r}} \mathcal{U}_{\alpha}^{r} \left(\frac{1}{2} \xi\right). \tag{2.23}$$

Using (2.23) in (2.21) and (2.22), we get

$$\sum_{a_1+a_2+a_3+\dots+a_{r+1}=\alpha} \mathcal{V}_{a_1}\left(\frac{\xi}{2}\right) \cdot \mathcal{V}_{a_2}\left(\frac{\xi}{2}\right) \cdot \mathcal{V}_{a_3}\left(\frac{\xi}{2}\right) \cdot \dots \cdot \mathcal{V}_{a_{r+1}}\left(\frac{\xi}{2}\right) = \frac{1}{r!} \sum_{t=0}^{\alpha} (-1)^t \binom{r+1}{t} \mathcal{S}_{\alpha-t+r}^r(\xi), \quad (2.24)$$

$$\sum_{a_1+a_2+a_3+\dots+a_{r+1}=\alpha} \mathcal{W}_{a_1}\left(\frac{\xi}{2}\right) \cdot \mathcal{W}_{a_2}\left(\frac{\xi}{2}\right) \cdot \mathcal{W}_{a_3}\left(\frac{\xi}{2}\right) \cdot \dots \cdot \mathcal{W}_{a_{r+1}}\left(\frac{\xi}{2}\right) = \frac{1}{r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} S_{\alpha-t+r}^r(\xi). \tag{2.25}$$

Hence Theorem 1.3 is established.

*Proof of Theorem* 1.4. Differentiating (2.10) r-times, we have

$$U_{\alpha}^{r}(\xi) = \mathcal{R}_{\alpha+1}^{r}(\xi). \tag{2.26}$$

Using (2.26) in (2.13) and (2.14), we have,

$$\sum_{a_1+a_2+a_3+\cdots+a_{r+1}=\alpha} \mathcal{V}_{a_1}(\xi).\mathcal{V}_{a_2}(\xi).\mathcal{V}_{a_3}(\xi).\dots.\mathcal{V}_{a_{r+1}}(\xi) = \frac{1}{2^r r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} (-1)^t \mathcal{R}_{\alpha-t+r+1}^r(\xi),$$

$$\sum_{a_1+a_2+a_3+\dots+a_{r+1}=\alpha} \mathcal{W}_{a_1}(\xi).\mathcal{W}_{a_2}(\xi).\mathcal{W}_{a_3}(\xi).\dots.\mathcal{W}_{a_{r+1}}(\xi) = \frac{1}{2^r r!} \sum_{t=0}^{\alpha} \binom{r+1}{t} \mathcal{R}^r_{\alpha-t+r+1}(\xi).$$

Hence Theorem 1.4 is established.

*Proof of Corollary* 1.1. By putting  $\xi = \frac{3}{2i}$  in (1.13),(1.14);  $\xi = \frac{3}{2}$  in (1.17),(1.18);  $\xi = 3$  in (1.21);  $\xi = \frac{3}{2}$  in (1.23),(2.13); and using (2.5) establishes the Corollary 1.1.

*Proof of Corollary* 1.2. Similarly, by putting  $\xi = \frac{3}{2i}$  in (1.15),(1.16);  $\xi = \frac{3}{2}$  in (1.19),(1.20);  $\xi = 3$  in (1.22);  $\xi = \frac{3}{2}$  in (1.24),(2.14); and using (2.6) establishes the Corollary 1.2.

### 3. Conclusion

In this paper, we attempt to study some basic properties of the Chebyshev polynomials of third and fourth kind and establish some identities of the sums of finite products involving these polynomials in terms of Fibonacci polynomials, Pell polynomials, Vieta-Fibonacci polynomials, Vieta-Pell polynomials, Gegenbauer polynomials, and Jacobi polynomials. Similar identities for the sums of finite products of Fibonacci numbers and Lucas numbers are deduced.

# Acknowledgement

The authors appreciate and thank the anonymous referees for their necessary suggestions, and valuable comments.

#### Competing Interests

The authors declare that they have no competing interests.

#### **Authors' Contributions**

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

#### References

- [1] B. G. S. Doman, The Classical Orthogonal Polynomials, World Scientific Publishing Company, (2015), URL: https://www.perlego.com/book/852001/classical-orthogonal-polynomials-the-pdf.
- [2] S. Halici, On the Pell polynomials, Applied Mathematical Sciences 5(37) (2011), 1833 1838.
- [3] T. Kim, D. S. Kim, D. V. Dolgy and D. Kim, Representation by several orthogonal polynomials for sums of finite products of Chebyshev polynomials of the first, third and fourth kinds, Advances in Difference Equations 2019 (2019), Article number: 110, DOI: 10.1186/s13662-019-2058-8.
- [4] T. Koshy, Pell and Pell-Lucas numbers, in: Pell and Pell-Lucas Numbers with Applications, Springer, pp. 115 – 149, (2014), URL: https://link.springer.com/book/10.1007/978-1-4614-8489-9.
- [5] J. C. Mason and D. C. Handscomb, Chebyshev Polynomials, 1st edition, Chapman and Hall/CRC, (2002), DOI: 10.1201/9781420036114.
- [6] D. Tasci and F. Yalcin, Vieta-Pell and Vieta-Pell-Lucas polynomials, Advances in Difference Equations 2013 (2013), Article number: 224, DOI: 10.1186/1687-1847-2013-224.
- [7] W. Zhang, On Chebyshev polynomials and Fibonacci numbers, Fibonacci Quarterly 40(5) (2002), 424 - 428, URL: https://www.fq.math.ca/Scanned/40-5/zhang-wenpeng.pdf.

